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ELEC-A7200 Signals and Systems
Midterm Exam/Valikoe/Mellanprov I

Problem/Tehtivi/Problem 1

(English): Consider a signal z(t) = 1/2 + sin(20mt) + cos{407t)
a) Determine the period of the signal.

(1p)

b) Determine the coefficients z) of the exponential Fourier-series representation of the

signal;

z(t) = Z Ty eXp (jZ_Tk )

k=—00

c) .Determine the power of the signal.
d) Sketch two-sided power spectrum of the signal.
e) Sketch one-sided power spectrum of the signal.
(Suomi): Tarkastellaan signaalia z(t) = 1/2 + sin(20nt) + cos(407t)
a) Mi#ritd signaalin jakson aika.
b) Maérité signaalin eksponentiaalisen Fourier-sarjan kertoimet zy:

()= Y mmex (4%)

k=—00

¢) Magiritd signaslin teho.
a) Piirra signaalin kaksipuoleinen tehotiheyspektri.
e) Piirrd signaalin yksipuoleinen tehotiheyspekfri.

(2p)
(1p)
(1p)
(1 p}

(1p)

(2p)
(1p)
(1 p)
(1 p)
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(Svenska): Betrakta signalen z(t) = 1/2 + sin(20mt) - cos(407t)
a) Bestéim signalens period. (1p)

b) Bestém koeflicienterna z; for signalens exponentiella Fourier-serierepresentation:

o) = > mpexp (jz%”t)

k=—o00
(2 p)
c¢) Bestdm signalens effekt. (1p)
d) Skissera signalens tvésidiga effekt-spektrum. (1p)
e) Skissera signalens ensidiga effekt-spekirum. (1 p)
Problem/Tehtéva/Problem 2
(English): Consider two pulses
1 t 1
ml(t) = ﬁrect (-‘f - 5)
and
zo(t) = z1(t — T)
where T > 0.
) Determine the inner product
[+ +]
@@ = [ s
‘What is the interpretation of the result? (2 p)
b) Determine the inner product
CORNO B JERCEOL
What is the interpretation of the result? (2 p)
¢) Determine the convolution integral:
vt)= [ st -r)ar
—~00
Use graphical convolution. (2 p)
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(Suomi): Tarkastellaan kahta pulssia

z:(t) = %rect (—;,— - %)

2o(t) =21t = T)

ja
missd T > 0.
a) Madritd sisitulo

[==]

@Oa®) = [ aisit
Miké on tuloksen tulkinta?
b) Mééritd sisétulo
@t e = [ oal)si(od

Miks, on tuloksen tulkinta?
¢) Midritd konvoluutiointegraali:
o0
vt) = [ aur)m(e—ryar
Kaytd graafista konvoluutiota.

(Svenska): Betrakta tvé pulser

zy(t) = %rect (—;; - %)
och
, za(t) = 2:(t - T)
dir T > 0%

a) Bestim inre produkten

(08 = | " (a3

—c0

Vad &r tolkningen av resultatet?

b) Bestdm inre produkten

(@@ a@) = [ st

—00

Vad #r tolkningen av resultatet?

(2 p)

(2 p)

(2p)

(2 p)

(2 p)
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¢) Bestdm konvolutionsintegralen:

) y(t) = foo z1 ()21 (t — 7)dr

-00

Anvind grafisk konvolution.

Problem/Tehtivi/Problem 3

(English):
a) Consider a pulse
p(t) = tria(t — 1) + tria(t) + tria(t + 1)
Determine the Fourier transform of the pulse P(f).

b) Fourier transform of g(t) is given by

an =u(-r+3)+u(r-3)

where u(f) denotes unit step function. Determine g(z).
(Finnish):
a) Tarkastellaan pulssia
p(t) = tria(t — 1) + tria(t) -- triat + 1)
Méérité pulssin Fourier-muunnos P(f).

b) Funktion g(t) Fourier-muunnos on annettu muodossa

o =u(-s+3)+u(r-3)

missi u(f) tarkoittaa yksikkdaskelfunktiota. Méasrité g(t).

(Swedish):
a) Betrakta en puls
p(t) = tria(t — 1) + tria(t) + tria(t + 1)

Bestim Fouriertransformen av pulsen P(f).

b) Fouriertransformen av g(t) ges av

an=u(~r+3)+u(r-3)

dér u(f) betecknar enhetsstegsfunktionen. Bestém g(t).

(2 p)

(3 p)

(3 p)

(3 p)

(3 p)

(3 p)

(3 p)
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